Online MAC 1140
Sample Questions for Test 3 
NOTE: These are just sample questions, and do not include all the competencies tested on Test 3! To be prepared for Test 3, you must review all the competencies for this test and practice all the problems stated on the “Topics” link found here in BB.

Answer without the use of the graphing calculator. The answers have an asterisk.
1.  The range of the function f(x) = 3x is:
a. x can be any real number

b. y can be any real number

c. x > 0
d. *y > 0 

2.  Which of the following is the graph of f(x) = (1/3)x ?   (Each tic-mark is one unit.) 
a.[image: image1.emf]   


b. [image: image2.emf]
*c. [image: image3.emf]


d. none of the above
3.  If 42x+ 3 = 8, then equating the bases we would get the expression 24x+ 3 = 23
a. True

*b. False
4. If y = logb x, for any base, b, the x-intercept is always 1.
*a. True

b. False
5. Solve algebraically for x:  logx ⅛ = 3  

a.
2

b.
-2

*c.
½


d.
-½
6. If f(x) = bx, find b if we know that f (-5) = 32

a.
2


b.
-2


*c.
½



d.
-½
7.   ln r = t  is equivalent to  loge r = t
*a. True

b. False
8.   logk r = t  is equivalent to  kr = t
a. True

*b. False
9.  One of the properties of logarithms states that log mn = m log n
a. True

*b. False
10.   Solve algebraically for x: 
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c.  
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*b. 
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d.  
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11. The solution of the equation ln (2x – 1) = 3 algebraically is  
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*a. True
b. False
12. The graph of  y = e x+3   is
 [image: image10.emf]
(Each tic-mark is one unit.) 
a. True

*b. False
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